
Half Yearly Examination 2020 
Class: 2  

Subject: English 1st Paper 
Time: 2.30 hours          Total Marks: 100 

1. Write the following word meaning in Bengali: 5x3=15 

 Triangle, Cottage, Sapling, Strong, Chum 

2. Answer the following questions: 7x5=35 

 a) What is a mail train? 

 b) What happened to Tom? 

 c) Why did the crow open his bill? 

 d) What did Aladdin see when he lifted the stone? 

 e) Was Tom like other boys? 

 f) Who stole the lump of cheese? 

 g) Which tree do acorns come from? 

3. Fill in the blanks:  3x5=15  

 a) The name of the wizard was ________. 

 b) All were going to ________ fair. 

 c) The Farmer had ________ and ________. 

 d) The ________ tree is very useful to us. 

4.    Make sentence with the following words: 2x2=4 

Wizard, Wayside. 

5.    Write True or False: 5x2=10 

 a) They jumped across the rails. 

 b) Tom fell into the kettle. 

 c) They threw the fly into the water. 

 d) The tail is made with wood. 

 e) The sides are made of thin strips of wood. 

7.    Write the poem “The Hunsmen” 8 lines from your memory.        11 

8.    Write the past tence: 5x2=10 

       Wish, jump, come, see, has. 

 

 

 



Half Yearly Examination 2020 
Class: 2  

Subject: English 2nd Paper 
Time: 2.30 hours              Total Marks: 55 

1. Fill in the blanks with the following words:            5x2=10 

 downwards, pavement, dew, vegetables, float 

a) The green-grocer brings the ________. 

b) Sparks fly upwards, raindrops fall ________. 

c) Light things ________ on water, heavy things sink. 

d) John spins a top on the ________. 

e) The grass was wet with ________. 

 

2. Fill in the blanks:          5x2=10 

 a) Jane played ________ her dolls. 

 b) The middle of the apple is called the ________. 

 c) John is throwing a ________. 

 d) It is better to be a ________ than an enemy. 

 e) The postman brings the ________. 

 

3. Make sensible sentences of the followings:             5x2=10 

 a) ice, girls, cream, like 

 b) water, plants, need 

 c) eyes, with, we, our, see 

 d) elephant, a, an, animal, large, is 

 e) quenches, thirst, water 

 

4.    Choose the right word and write out these sentences:      5x1=5 

       a) The (rain, snow, sunshine) lay thick upon the ground. 

b) The king wore a crown of pure (gold, steel, silver). 

c) The road was long but it seemed (rough, wide, short). 

d) The king was in his (counting, castle) house, counting out his (money, coin). 

 

5.    Write out the sentences correctly:             2x5=10 

a) when I want to know I ask mary. 

b) Do you think i like tom? 

c) my sons name is tom. 

d) little jack horner sat in the corner. 

 

6.    Write a paragraph about “Our Country”                 10 

 

 

 

 

 

 

 

 



Aa©-evwl©Kx cixÿv - 2020 Lªxt 

‡kÖwY - wØZxq 

welq - MwYZ 

mgq: 2 N›Uv                                                                                                c~Y©gvb: 75 

1| K_vq I As‡K wjL:              10   1 = 10 

303, 535, 436, wZbkZ ‡ZwÎk, cuvPkZ cÂvbœ, 

242, 333, 388, Two hundred thirty-four, Three hundred five. 

 

2|   bvgZvi mvnv‡h¨ fvM Ki:          52 = 10 

      54 ÷ 6, 32 ÷ 4, 18 ÷ 2, 32 ÷ 3, 35 ÷ 5 

 

3|   µgevPK msL¨v¸‡jv K_vq wjL:         101 = 10 

       2q, 4_©, 6ô, 5g, 8g, 12k, 13k, 15k, 19k, 14k  

 

4|   LvwjNi c~iY Ki:           33 = 09 

K) 14 +     = 37          L) 51 -     = 18            M)     + 15 = 48 

 

5| †hvM Ki:            32 = 6 

 K)   394   L) 631 + 500 

   +  725  

  

6| we‡qvM Ki:            32 = 6 

 K)    580   L) 287 - 196 

     Ñ  282 

 

7| ¸b Ki:            32 = 6 

 K)  342    L)  423  

       13                                     12         

 

8| fvM Ki:            32 = 6 

 K)  72   11     L)   64   9   

 

9| cÖ‡kœi A¼ Ki:           62 = 12 

 K) GKwU wiKkvq 3wU PvKv Av‡Q| 5wU wiKkvq GK‡Î KqwU PvKv Av‡Q ? 

 L) ivRyi evev GK w`‡b 12 N›Uv KvR K‡ib| hw` wZwb 3 w`b KvR K‡ib, Z‡e KZ N›Uv KvR n‡e ?  

 



Aa©-evwl©Kx cixÿv - 2020 Lªxt 

‡kÖwY - wØZxq 

welq - evsjv 1g cÎ 

mgq: 2 N›Uv                                                                                                c~Y©gvb: 65 

 

1| ÒAvgv‡`i †QvU b`xÓ KweZvwUi Kwei bvgmn cÖ_g 8 jvBb gyL¯’ wjL|       10 

 

2| kãv_© wjL :                  51 = 5 

 ‡Lvmv, mvov, ayg, evRbv, gy» 

 

3| evK¨ MVb Ki:                    52 = 10 

 my‡ijv, wR‡ivq, weL¨vZ, SuvK, `vbv 

 

4| hy³eY© ‡f‡½ kã MVb Ki:                         52 = 10 

 ô, », Uª, L¨, Â 

 

5| k~b¨¯’vb c~iY Ki:                   51 = 05 

 K) evsjv‡`k ÑÑÑÑÑÑÑÑÑ ‡`k| 

 L) Mv‡Qi kvLvq kvLvq ZiZi K‡i Ny‡i †eovq ÑÑÑÑÑÑÑÑÑ| 

 M) meyR MÖv‡g ÑÑÑÑÑÑÑÑÑ mgq bvbv iKg dj cv‡K| 

 N) gvV cvi n‡jB ÑÑÑÑÑÑÑÑÑ| 

 O) ÑÑÑÑÑÑÑÑÑ Rjfwi Mv‡q Zviv Xv‡j| 

 

6| ms‡ÿ‡c DËi `vI:                          52 = 10 

 K) b`x‡Z Kxfv‡e †Q‡j‡g‡qiv gvQ a‡i? 

 L) KuvPv _vK‡Z †Kvb †Kvb dj meyR nq? 

 M) ‡Uªb †Kgb kã K‡i _v‡g? 

 N) fvcv wcVv evbv‡Z Kx Kx jv‡M? 

 O) mKv‡j Kx‡mi Wv‡K ỳLyi Nyg fv‡½? 

 

7| wb‡Pi cÖkœ¸‡jvi DËi `vI:           35 = 15 

 K) ‡QvU b`x m¤ú‡K© PviwU evK¨ †jL| 

 L) Avgv‡`i RvZxq Kwe m¤ú‡K© cuvPwU evK¨ †jL| 

 M) ‡Zvgvi wcÖq wcVv m¤ú‡K© cuvPwU evK¨ †jL| 



Aa©-evwl©Kx cixÿv - 2020 Lªxt 

‡kÖwY - wØZxq 

welq - evsjv 2q cÎ 

mgq: 2 N›Uv                                                                                                c~Y©gvb: 55 

1| cÖ‡kœvËi wjL :                35 =15 

 K) we‡aq Kv‡K e‡j? D`vniY `vI| 

 L) mwÜ Kv‡K e‡j? mwÜ KZ cÖKvi I Kx Kx? 

 M) we‡klY c` Kv‡K e‡j? D`vniY `vI| 

 

2| k~Y¨ ’̄vb c~iY Ki:                       51 = 05 

 K) Ae¨q c` ÑÑÑÑÑÑÑ cÖKvi| 

 L) Dr + jvm = ÑÑÑÑÑÑÑ| 

 M) ÑÑÑÑÑÑÑ evsjv‡`‡ki ivRavbx| 

 N) wmsn + ÑÑÑÑÑÑÑ = wmsnvmb| 

 O) ev‡K¨i cÖwZwU kã‡K GK GKwU ÑÑÑÑÑÑÑ e‡j| 

 

3| mwVK DËi wjL:                       51 = 05 

 K) c` KqwU?       )i  2wU     )ii 3wU    )iii  4wU )iv  5wU 

L) ev‡K¨i Ask KqwU?  )i  2     )ii  4    )iii  5    )iv  6 

M) ev‡K¨ hvi m¤^‡Ü wKQz ejv nq Zv‡K e‡j-  )i  D‡Ïk¨    )ii  evK¨  )iii  kã    )iv  we‡aq 

N) XvKv †Kvb c`?  )i  we‡kl¨    )ii  me©bvg   )iii  Ae¨q )iv  we‡klY 

O) ‡h c` Øviv †Kvb KvR Kiv eySvq, Zv‡K e‡j - )i  Ae¨q     )ii  wµqv  )iii we‡kl¨    )iv  me©bvg 

 

4| wecixZ kã wjL:                     81 = 08 

 nvwm, †hvM, mZ¨, †iv`, mKvj, fzj, Rgv, †fZi 

 

5| evK¨ ms‡KvPb Ki:            62 = 12 

 K) we`¨v Av‡Q hvi|   L) b`x gvZv hvi| 

 M) ev‡Ni WvK|   N) Avmgv‡bi gZ is| 

 O) hvi AvKvi †bB|   P) ‡h mZ¨ K_v e‡j| 

 

6| iPbv wjL: (†h †Kvb 1wU)                    101 =10 

 ÔkvcjvÕ     A_ev  ÔavbÕ 

 

 

 

 

 

 

 

 

 

 

 



Aa©-evwl©Kx cixÿv - 2020 Lªxt 

‡kÖwY - wØZxq 

welq - cwi‡ek cwiwPwZ 

mgq: 2 N›Uv                                                                                                c~Y©gvb: 75 

1| GK K_vq DËi `vI:                122 = 24 

K) cÖv_wgK we`¨vj‡q †Kvb †kÖwY ch©šÍ cov‡bv nq? 

L) mncvVx‡`i mv‡_ Kx Ki‡Z ‡bB? 

M) ‡ijc‡_ hvZvqv‡Zi evnb Kx? 

N) ’̄jc_ Kq cÖKvi? 

O) MÖv‡gi AwaKvsk †jv‡Ki cÖavb RxweKv Kx? 

P) cvkvcvwk K‡qKwU cvov wb‡q Kx MwVZ nq? 

Q) wecøe I msnwZ †Kvb ai‡Yi Abyôvb? 

R) ‰ekvLx c~wY©gv Kv‡`i agx©q Abyôvb? 

S) Miæ, QvMj, †Nvov, weovj †Kvb ai‡Yi cÖvYx? 

T) c„w_exi mKj cÖvYx‡K Kqfv‡M fvM Kiv n‡q‡Q? 

U) kixi MV‡bi Rb¨ Kx‡mi cÖ‡qvRb? 

V) Avg, KvuVvj, †cu‡c, Avbvim †Kvb ai‡Yi dj? 

 

2| k~b¨¯’vb c~iY Ki:             52 = 10 

K) wkÿK-wkwÿKv‡`i Av‡`k wb‡la ÑÑÑÑÑÑÑ Pj‡Z n‡e| 

L) c_ ÑÑÑÑÑÑÑ cÖKvi| 

M) kni n‡jv ÑÑÑÑÑÑÑ| 

N) ÑÑÑÑÑÑÑ Avmi Avgv‡`i mvgvwRK Abyôvb| 

O) dj ÑÑÑÑÑÑÑ Lv`¨| 

 

3| mwVK DËiwU wjL:              71 = 7 

 K) Kv‡`i Avcb fvB-‡evb‡`i g‡Zv fvjevm‡Z n‡e? 

)i  gv-evev  )ii fvB-‡evb‡K   )iii  AvZœxq-¯̂Rb‡K  )iv  mncvVx‡`i 

L) we`¨vj‡q Kv‡`i †jLvcov †kLv‡bv nq? 

)i  gv-evev  )ii fvB-‡evb   )iii  ‡Q‡j-‡g‡q‡`i  )iv  AvZœxq 

M) MÖv‡gi evRvi¸‡jv mvaviYZ `yB w`b e‡m? 

)i  mßv‡n  )ii  c‡ÿ   )iii gv‡m   )iv  eQ‡i 

N) MÖv‡gi gvbyl wRwbmcÎ †ePv‡Kbvi Rb¨ †Kv_vq hvq? 

)i  ¯‹z‡j  )ii  K‡j‡R   )iii  evwo‡Z  )iv  nvUevRv‡i 

O) ‡KvbwU AvKvk c‡_i evnb? 

)i  wiKkv  )ii ‡ijMvwo   )iii  ‡bŠKv   )iv  D‡ovRvnvR 

P) ’̄j c_ KZ cÖKvi? 

)i  2   )ii 3    )iii 4    )iv  5 

Q) ‡KvbwU A‡giæ`Ûx cÖvwY? 

)i gvbyl  )ii Miæ    )iii QvMj   )iv  wPswo 

 

4| msw¶ß cÖkœ¸‡jvi DËi `vI: ( †h †Kvb 4wU)           45 = 20 

K) cÖv_wgK we`¨vjq Kv‡K e‡j? 

L) kni Kv‡K e‡j? 

M) Avgv‡`i †`‡ki D‡jøL‡hvM¨ dj Kx Kx? 

N) agx©q Drme Kv‡K e‡j? 

O) ‡Kvb †Kvb c‡_ Avgiv hvZvqvZ I gvjcÎ Avbv †bIqv Kwi? 

P) ‡giæ`Ûx cÖvwY Kv‡K e‡j? D`vniY `vI| 

Q) MÖv‡gi c_-NvU †Kgb? 



 

5| iPbvg~jK cÖ‡kœi DËi `vI: (‡h †Kvb 2wU)             72= 14 

K) we`¨vj‡q QvÎ-QvÎx‡`i KZ©e¨ Kx? 

L) d‡ji DcKvwiZv Kx? 

M) evsjv‡`‡k wK wK agx©q mgvR i‡q‡Q? 

N) ’̄jc_ Kv‡K e‡j? Dnv KZ cÖKvi I wK wK? 

O) cÖvYx Kv‡K e‡j? cÖvYx‡K Kqfv‡M fvM Kiv n‡q‡Q I wK wK? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Aa©-evwl©Kx cixÿv - 2020 Lªxt 

‡kÖwY - wØZxq 

welq - WªBs 

mgq: 2 N›Uv                                                                                                c~Y©gvb: 100 

 

1| Avg   - WªBs   12 

2| cÖRvcwZ   - WªBs   12 

3| ‡bŠKv    - †¯‹P   18 

4| MvRi   - †¯‹P   18 

5| bKkv   - is   20 

6| cÖvK…wZK „̀k¨  - is   20 

 


